INTEGRATED ALGEBRA

The University of the State of New York
REGENTS HIGH SCHOOL EXAMINATION

INTEGRATED ALGEBRA

Thursday, June 14, 2012 — 1:15 to 4:15 p.m., only

Student Name: §7/eue, U&JLSO/I
School Name: Tm A p

Print your name and the name of your school on the lines above.

A separate answer sheet for Part I has been provided to you. Follow the
instructions from the proctor for completing the student information on your answer
sheet.

This examination has four parts, with a total of 39 questions. You must answer
all questions in this examination. Record your answers to the Part I multiple-choice
questions on the separate answer sheet. Write your answers to the questions in
Parts II, III, and IV directly in this booklet. All work should be written in pen, except
graphs and drawings, which should be done in pencil. Clearly indicate the necessary
steps, including appropriate formula substitutions, diagrams, graphs, charts, etc.
The formulas that you may need to answer some questions in this examination are
found at the end of the examination. This sheet is perforated so you may remove it
from this booklet.

Scrap paper is not permitted for any part of this examination, but you may use
the blank spaces in this booklet as scrap paper. A perforated sheet of scrap graph
paper is provided at the end of this booklet for any question for which graphing may
be helpful but is not required. You may remove this sheet from this booklet. Any
work done on this sheet of scrap graph paper will not be scored.

When you have completed the examination, you must sign the statement printed
at the end of the answer sheet, indicating that you had no unlawful knowledge of the
questions or answers prior to the examination and that you have neither given nor
received assistance in answering any of the questions during the examination. Your
answer sheet cannot be accepted if you fail to sign this declaration.

Notice...

A graphing calculator and a straightedge (ruler) must be available for you to use while taking this
examination. }

The use of any communications device is strictly prohibited when taking this
examination. If you use any communications device, no matter how briefly, your
examination will be invalidated and no score will be calculated for you.

DO NOT OPEN THIS EXAMINATION BOOKLET UNTIL THE SIGNAL IS GIVEN.
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Part I

Answer all 30 questions in this part. Each correct answer will receive 2 credits. No partial
credit will be allowed. For each question, write on the separate answer sheet the numeral
preceding the word or expression that best completes the statement or answers the question. [60]

Use this space for

1 In a baseball game, the ball traveled 350.7 feet in 4.2 seconds. computations.
What was the average speed of the ball, in feet per second? ' l—k
@ s35 (3) 354.9 0 ool = oo A'S' Nt
9) 1775 (4) 1,472.9 ereRE R Jotel *»me-
Ss‘o 7

2 A survey is being conducted to determine if a cable company should
add another sports channel to their schedule. Which random qurvey

| = 83 s C’ Q
would be the least biased? ! lo s /t‘ C b ased
(1) surveying 30 men ata gym —2> "' ¢

|Lc s or\')' (1955 L"Q'S>
@ surveying 45 people at a mall _.....-—-ij— os vij' not ke 5§

(3) surveying 50 fans at a football game }(L 5 o/‘l’gﬁb Les °—§> ) QB>
(4) surveying 20 members of a high school soccer team -? e Sgof \'S \D ves

g
3 The quotient of 225 2:24"3 e i?ly /‘/[ X A

(1) 1627 — 48 + 82° — 122 ’f;(" 27( 1' _&D
o rem A/x”) z‘+2)€ .51,

@ -2+ u-3 L|X )(z + 2;( 37(

Wl ¥ 2% -3

4 Marcy determined that her father’s age is four less than three times

herage. If x represents Marcy’s age, which expression represents her

father’s age? -Q;}LOA 0-39« - Q}V_, 7&55 ‘H\u\ 3-\'\‘««&5 A

® x4 (3) 4x — 3

(2) 3(x — 4) (4) 4 - 3 \OQ-}{AG/SQ-SQ' = _q -+ 3x

‘Q&-H,\.,_/J ije. =i I X -4 \
]
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Use this space for
5 A set of data is graphed on the scatter plot below. computations.

70

50
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-AV
60 62 64 66 68 70 72 74

This scatter plot shows

Na ] “‘\,‘ f\&j c_)"t Ve

(1) no correlation (3) negative correlation

p051t1ve correlation (4) undefined correlation

(5 ned
LA E.
ﬂ &eo"”“"’

6 Which situation is an example of bivariate data?

(1) the number of pizzas Tanya eats during her years in high school

(2) the number of times Ezra puts air in his bicycle tires during the b jJa cres . \D\Q}

SUMMer  » \\o = \ l}.;u.\)i— _\'\)o Jo- N
@ the Emﬁﬁgg of home runs Elias hits per game and the numﬁér e
of hours he practices baseball

(4) the number of hours Nellie studies for her mathematics tests ’ =
during the first half of the school year \‘_) :
-
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Use this space for
7 Brianna’s score on a national math assessment exceeded the scores computations.
of 95,000 of the 125,000 students who took the assessment. What
was her percentile rank?

(1) 6 (3) 31

}2S 200

8I1fA=1{0,1,3,46,7,B=1{0,2,3,56},and C = {0, 1, 4, 6, 7},

thenANBNCis

(1) {0,1,2,3,4,5,6,7} ® 0,6 AQE (\C meoNnS ’\’\’\L 3«/\ _

(2) {0, 3, 6} (4) {0} M\Q,SQC\\Q - a(- =\ ce N
yes\ |3ine ré Jes code 5o 0.4 e,o.c)« Q\ame v

)
o el e ) e e e SN
"o 5 no 32’\_5
9 Which graph represents a function? cee—
{ X
A
Va TN (o \S Bt ~
P /’-]/ ue/ 3(&
-« - »X < A - 7 » X \\
/
{
/ NIV
Y Y f
® 3)
y 7 <
Y ) AR
" J -
ool X8
- ot

A
\
x
A
\ ]
x
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Use this space for

10 What is the product of (3x + 2) and (x — 7)? computations. \
(1) 32 — 14 @ 32— 19— 14 Db iNive O gerty
(2) 3x2—5x — 14 (4) 3x2 — 23x — 14 C3x+2><x-7)

Zx% - 21 X ¥ 2% =14
z _ X - \\.\.
5X & 5% S X \7 A

11 If five times a number is less than 55, what is the greatest possible
integer value of the number? o
(1) 12 5(@;% % @ 10 < (\0> < <5 Fros \© \/\°’<‘

Sef \H¥
O

@ 11 s(y) £ 55 (4) 9 5(q) ¢ €5 Free %:?r

R RS ONE W T2
= N
\\ X e
12 The line represented by the equation 2y — 3x = 4 has a ilo_e_g of e %
‘ \! N
(1) _% (3) 3 \} = \N\Zﬁ - &) TSR U——
@ 2 Py _:2;_ >S\ope
2y-3X =4
2y ZZA¥Y
N =R 2
13 What is the solution set of the system of equations x + y = 5 and
y = x> — 257
(1) {(0,5), (11,-6)} (3) {(=5,0), (6,11)}
® ((5.0). (=6,11)} (4) {(=5,10), (6,—1)}
— 2 -
Xx+y=¢ Y= R%-25 X+ X-350 =0
EETR ] (X*6>CX'§> =0
0‘0 S - X = X - 2 § ) o . {
-5+ A -5 tA X+b =0 ey
0= K30 T 7 hel )\ Tl
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Use this space for

14 What is the vertex of the parabola represented by the equation computations.
y = —2x% + 24x — 100? OQ
) xa; 6 oY c . (6.—28) X—' e = aXe s7mme_ /
(2 x=6 (4) (—6,—316) _o-2d o =2d _@
T2 T -4 T

_2x% ¥+ 24 x oo

=2 (6 ¥ 24 (6)- 100
~16ﬂﬁ+ 14y oo >VY= =72 +l4q oo —> ¥ = (-28
15 If k = am + 3mx, the v ueofmlntermsofa k, and x can be

expressed as

n oy

/
)
)

K =oem + 5 m X

k k —am
3

’a+3x (3) 3x \(: \(\r\(&-"\’.)x>
(2) k= 3mx (4) k—a |

a 3x

2 _ - 10 z - e
16 Which expression represents T 2 ? g5 In simplest form? __} >A \©
X&-2%
2 3 x — 2 . )

(1) 5 (3) x—5 ;‘SM (X*é)

® W (xx) M

17 Which interval notation describes the set S = {x|1 = x < 10}?

(1) [1,10] ® (.10
(2) (1,10] (4) (1,10)
] o ECQ—\I\ CSLV»A Q—A‘SQ‘C—E-‘\X =

> ( com X utﬂo-\ o bmvs’f =

\ € X €\0

)
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Use this space for
21 Which equation is represented by the graph below?

computations.
y ,
LS 4 YzmXx+ b
| L - A’e/c_e@'\’
/[
S\ ° ? L
L; f = —
< . > X b 5
. e -6
D T s 7, - -
AR M="a ™3 “

v\ T
2y = 4 X -\/0)
(1) 2y +x =10

(3) —2y = 10x — 4

(2) y —2x=-5 @ 2y=-4-10
{
R ¢
G QR
22 Which coordinates represent a point in the solution set of the ()Q,@/ N
system of inequalities shown below? (j (G’Q
y = %x + 13

o+ 2y>3 —> 2Y>—LJ>(+3
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Use this space for
23 The length of one side of a square is 13 feet. What is the length,

computations.
to the nearest foot, of a diagonal of the square?
(1) 13 (3) 19 @X\J\,\ Q_Sa B~ {IV\Q.D g
@ 15 (4) 26 ez = C )
7\ SRR A SR E24
AGERRE 9 =™ -
X [69+ /67 = . \8\5347763\ =C
\3 338 =C
24 In AABC, m2C = 90. If AB = 5 and AC = 4, which statement is
not true? Q
(1) cos A —g— (3) sinB = g- / L}- \\5
3 / Y \ 7 ,’}
(2) tan A = O tanB—E‘\.f.ﬁ@ ) P 9
/‘(DQ' . L %a’.r\ “ L\
RN 4 ¥ By
9’)& o /

o
S AP s T e 3

25 If n is an odd integer, which equatlon can be used to find three

>rb—"‘; Ao—‘3 ‘3'5'
o

consecutive odd integers whose sum is —37 7 - BC
(e/ 2 =2
() n+(m+1)+{n+3)=—3 5% a® b=
2 n+n+D+m+2=-3 . a@ z 2 _ e
- b \%(@5 O’QC/ *7=5
@ n+n+2)+(n+4=-3 1 o 2. 1
4 n+n+2)+(n+3)=-3 > ( [6xY">
+ 3) = o 2
AN 7?9
PUT =3
~
B =3
26 When 8x2 + 3x + 2 is subtracted from 92 — 3x — 4, the result is e T e
(1) 22 -2 (3) —x2+6xr+6
(2) 17x2 — 2 Q@ 2-6x—-6

Ix*-3%x-4
(BXZ+BX'*3>MH

-6 X =6

Integrated Algebra - June "12 [9] : [OVER]



Use this space for

27 Factored completely, the expression 3x* — 33x2 + 90x is equivalent to computations.
(1) 3x(x2 — 33x + 90) (3) 3x(x + 5)(x + 6) 3rT-33X*x %0 x
(2) 3x(x2 — 11x + 30) @® 3x(x — 5)(x — 6) 3 Ci\j - X% +30 X)

3x(x*-11x +30)

T3 (600

28 Elizabeth is baking chocolate chip cookies. A single batch uses
‘ % teaspoon of vanilla. If Elizabeth is mixing the ingredients for

five batches at the same time, how many tablespoons of vanilla will she

use?
@t ‘EJ'QI—-‘QOQN\SB -ﬁ{a_Le;M 3 7‘66-‘6‘”"“ ")’w-d-i f
3 teaspoons = 1 tablespoon
2(5): G Ao’
}
o1 (3) 35 T 5
3 3 15° w L —..\,5-:‘-:1:& }Q*A’\”ﬁ‘
@ 12 (4) 55 q "3 Tz
N Can S
CDA\J eJ»_S\DJ'\

29 A car depreciates (loses value) at a rate of 4.5% annually. Greg
purchased a car for $12,500. Which equation can be used to

determine the value of the car, V, after 5 years? l 00 Z - q‘ﬁ :95 ﬁ
(1) V = 12,500(0.55) (3) V = 12,500(1.045)5
. V = 12,500(0.955)5 (4) V = 12,500(1.45)°

—w\&. Cer (& G\ AS (_\‘:Qg_,eb ?5,{2 oﬁ.s‘)ﬁ

Vo \we every 7%"-

\/Q«\\Ae_ = \2 S’GO( 955)(9§5/X3§§X9§§(95;2

k}é&:éﬂ G 4

ee.r  Mes” yer Yep,
\Uad we = #IZ §00\ﬁ?@72§/}x
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Use this space for
30 The cumulative frequency table below shows the length of time computations.

that 30 students spent text messaging on a weekend.
e

Cumulative “Mare. ace 30O S*’J@-‘“\: ,

& Ih‘}‘Q(\)m) Minutes Used Frecenoy

31-4o0 31-40 2 The Q <Y Qs e GQ

L Y1-SD 31-50 5 | | wow\a\ \Dg,
'5’! - 60 31-60 10 SA’\AA Q..I\\‘ ‘
& -70 31-70 19 20 Slvwékz‘v\*i_ - 7',;5‘ ‘
| _71-80 31-80 30 A et N \er

\ .
Which 10-minute interval contains the first quartile? . \.A'S\'Qf I &-\ ”(\V\‘:}:
(1) 31-40 ® 5160 foedaing ShudesN FT7E
(2) 41-50 (4) 61-70 S ) - éo ]
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Part I1

Answer all 3 questions in this part. Each correct answer will receive 2 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. For all questions in this part, a correct numerical answer with no work shown will
receive only 1 credit. All answers should be written in pen, except for graphs and drawings,
which should be done in pencil. [6]

31 Solve the following system of equations algebraically for y:
% + 2 =9

\N\e}(\/_ﬁ§ 2x—y =3

Integrated Algebra - June 12 [12]



32 Three storage bins contain colored blocks. Bin 1 contains 15 red and 14 blue blocks. Bin 2
contains 16 white and 15 blue blocks. Bin 3 contains 15 red and 15 white blocks. All of the blocks

from the three bins are placed into one box.

If one block is randomly selected from the box, which color block would most likely be picked?
Justify your answer.

Y
!

Bin) E.Bmméwjjgasmmmmiébﬂ

- \0\\«:, c\c o AW °S>’r \‘\\"Ql/

be Q\L\LJ The @”\0\0\ ZQ} °‘<;
(’,\)eJ\\ \S \DCLSQI)‘ on al
o S

?@xgﬁ% T TR ges Me 2
- 29 = 2=
Q@h» 5 e % @@9 70

Quada (s geester

Reds 15 e | O iseed | 30w

wk‘]’e) O f \fbw\;\.}eb ‘1 15 whote | 3\ \o\\)ﬁ_’
" _

s 1z S L 70
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33 Students calculated the area of a playing field to be 8,100 square feet. The actual area of the field
is 7,678.5 square feet. Find the relative error in the area, to the nearest thousandth.

ﬁ(l‘wuj - P{/]fi‘,cr a»—:’fxﬁ ‘7*3;? o

ISR :;r <£'
; “@ ¢ f
Ae_: 7{,‘&3 X ;ﬂ ,f
\er 3 Q’
P
o - g f/
A DO -V A 4zl s /
e e . “0.05 9357339
— - L78.% R
/7 &78. % K N o
, § AQJ OO
\):\)) l,“o
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Part 111

Answer all 3 questions in this part. Each correct answer will receive 3 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. For all questions in this part, a correct numerical answer with no work shown will
receive only 1 credit. All answers should be written in pen, except for graphs and drawings,

which should be done in pencil. [9]

34 On the set of axes below, graph the equation y = x* + 2x — 8.

Using the graph, determine and state the roots of the equation x> + 2x — 8 =0,

F(OM CQ—Q\I\\‘"
Ce\ cé\a\'bf;’z__) -4 o

-3 -5}
-2 -8
-\ =19
y
A ol -8
V|-

=
Q
.

A
/
v

A 4

b g

TN Lo

The (00723 o.ce l_i/ and 2&
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35 A 28-foot ladder is leaning against a house. The bottom of the ladder is 6 feet from the base
of the house. Find the measure of the angle formed by the ladder and the ground, to the

nearest degree.

—w
. /)3
f ? \ / ’,’E
Y|
SV
B O L i
, -
‘ A&\ ocen ‘
P ) (007
\?\ S
7 % ¥
5 0

Kot -
co? . L ~¢ b
9 MY
IX/% \?x' /( \ \0 o
o’ 7N %
Y e % \
i
> P o
N v
o

[16]
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375 + 427

36 Express =3 in simplest radical form.

337 + Jz7

3

SS’EEJ’JrS”E

PSSR e

Integrated Algebra ~ June 12 [17] [OVER]



Part IV

Answer all 3 questions in this part. Each correct answer will receive 4 credits. Clearly
indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs,
charts, etc. For all questions in this part, a correct numerical answer with no work shown will
receive only 1 credit. All answers should be written in pen, except for graphs and drawings,
which should be done in pencil. [12]

37 Mike buys his ice cream packed in a rectangular prism-shaped carton, while Carol buys hers in
a cylindrical-shaped carton. The dimensions of the prism are 5 inches by 3.5 inches by 7 inches.
The cylinder has a diameter of 5 inches and a height of 7 inches. 3

[~

S 1

(Cmfr \\_e..?f\

Which container holds more ice cream? Justify your answer.

Uo\ww\ Q. \)o\v-r"e'
QQC—X(Q.V\ c\\j\‘ or G)(,;; —— C\i \\‘ ~ A e

V=Vlo\w V = ’\Y(L\'\
v-6)65)(7) V= (25 ()

V21225 cbic e V= 137.4896 78

C‘-"&\"&" VNEAN-EY

Cacals gftindec belds o :"‘;\\

\ A . . \
\ § CodN & "M UimRS A W (Rewn~

-]

‘ Sﬁ’\nc.,r-» W ee s ('Q\f,,.%emr\ = Y- Q( SV \
. b

et o Y s N

Determine, to the nearest tenth of a cubic inch, how much more ice cream the larger container

holds.

1374444786
- \22 %

/4944498 57

ot s

Vo, Co
f )q.q C_\—-'h‘¢ \‘\.Cr\’\e—ns mbf&

% s e e @ S A e,
PE————

e ——
e e e g g

e
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38 Solve algebraically forx: 3(x + 1) — 5x = 12 — (6x — 7)

2(x) =Sk =2 -(237(**7)
2x+3 SR T\ -6XXT)
_Zx@wigﬂ +\9
4y = 1k

=5

1

]

i
/""‘“\
l 1Y
s
4
N

‘ \ _ -? 7 i
2(s EAS
-z -0

js T & D " "
> \/

('

C-" — et
—_— ) vt -
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39 A large company must chose between two types of passwords to log on to a computer. The first type
is a four-letter password using any of the 26 letters of the alphabet, without repetition of letters.
The second type is a six-digit password using the digits 0 through 9, with repetition of digits allowed.

— S

Determine the number of possible four-letter passwords.

L‘Q.\-\e_(&\ L&' (j' r4 Lo_%'a ;&5 Léé\@(&q
Choieas Qo rees C_\\n NN C Moo els

T2\ » Tes |« ENUEEAE 556,800

ww\g\mn_ ond

Determine the number of possible six-digit passwords 8w :!“é
@ o T ot Bt UG
o) lo L C\lowet? C}“\"

S a s o

) < [0 A L [ B B =

- ‘ Do, bO©

&\f\&v\“oﬁs

- The company has 500,000 employees and needs a different password for each employee. State
which type of password the company should choose. Explain your answer.

ﬂx& C,OM@ cx.nr S\I\Q- \,.,\& CL\DOSQ\@

@0-55\00(;3' 'WQ'/Q e ('\Osr" Q__V\C:W'S\'\

U‘ '\&;e“?/ COM\O \\\f\&_s(' \\.m“g' ch/ 500) 000
eMQ\ °7 ees o eo N Vede G
& \SQ\Q( QA* G)(;‘"S < e @ s&
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